294 BT SR EL FRs LL 8= I BAE IR IR

= 2h ks :é s
BB || B BH#ESR (B ) Ho8RE =
858 35,100 29.320 83.5% 82.5%
INFERR 19,913 15,747 79.1% 77.3%
mal=a 5 10,248 9,328 91.0% 91.0%
EHHBEFER 102 85 83.3% 100.0%
SEFER 4,735 4,092 86.4% 86.3%
== 102 68 66.7% 76.9%
SEFRIE AT
_ REEERE | BHEREK ElEES (BE)H28RER
a5t 32,587 28,039 86.0% 84.9%
INERR 19,613 15,647 79.8% 78.0%
AR 9,431 8,957 95.0% 95.0%
BB FER 92 83 90.2% 100.0%
SEFER 3,388 3,299 97.4% 97.3%
PEHBEFR 63 53 84.1% 100.0%
EETFRAE RO ‘ \ _
_ RERERE | BHEREK EIEES (BE)H28B R
=&t 2.338 1,195 51.1% 49.8%
INERR 228 71 31.1% 28.6%
=a)oad 5 744 326 43.8% 42.2%
BB EER 6 0 0.0% —
=BEFR 1,329 783 58.9% 57.8%
P EHBEFER 31 15 48.4% 43.8%
SEERE BT _ _
FERSRE | BEERK BHESER (BE)H28BER
a5t 175 86 49.1% 47.1%
INERR 72 29 40.3% 34.2%
mal=a 5 73 45 61.6% 59.2%
B EER 4 2 50.0% —
=EFR 18 10 55.6% 52.9%
PEHEFER 8 0 0.0% 40.0%
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99.5
98.8
99.2
99.1
99.7
95.2
97.5
92.7
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93.5
94.4
88.5
90.1
82.7
82.2
81.6
79.9
74.1
91.6
73.9
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73.5
64.7
72.6
79.6
75.4
98.7
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66.1
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61.3
62.1
59.5
57.1
55.7
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49.2
93.9
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37.9
44.8
41.2
26.7

100.0
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99.7
97.6
98.4
98.8
97.5
96.0
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98.4
94.6
97.9
98.8
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93.5
97.0
91.7
99.5
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96.9
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92.7
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934
86.7
70.3
82.3
98.8
80.3
85.5
78.0
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914
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74.2
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90.0
84.7
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84.3
79.4
82.9
93.2
84.0
80.8
100.0
97.5
68.9
78.0
87.5

(%)

100.0
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98.8
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73.6
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66.6
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55.9
52.5
44.7
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90.1
443
72.6
62.1
93.5
92.9
82.2
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75.4
91.6
97.1
73.9
98.7
100.0
61.3
26.7
66.1
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74.4
81.6
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100.0
99.1
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41.2
71.0
68.3
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82.7
94.4
100.0
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79.9
55.7
99.2
97.5
95.2
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99.9
49.2
88.5
79.6
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94.4
89.0
91.7
86.1
86.7
94.3
96.6
98.8
98.2
98.4
82.3
79.5
89.3
92.7
98.8
97.6
98.7
61.6
85.5
97.9
99.7
92.7
96.9
96.2
100.0
96.0
83.3
63.5
78.0
80.3
72.3
99.5
93.5
100.0
98.8
74.3
97.7
83.9
97.5
94.6
984
95.3
93.8
88.3
97.0
70.3

0.0
50.0
100.0
90.0
100.0
50.0

100.0

96.3
93.2
88.3
84.4
100.0
86.0
78.1
924
91.8
92.6
96.3
74.2
94.5
79.4
91.4
100.0
96.0
96.9
87.5
84.7
94.9
100.0
84.1
98.5
92.6
100.0
922
80.8
78.0
825
90.0
68.9
97.6
86.4
100.0
96.9
97.5
83.1
82.9
96.3
93.3
97.4
84.2
84.3
84.0
87.6
87.5

(%)

18.2
66.6
80.1
89.3
65.2
78.0
73.6
94.3
94.4
88.6
98.7
77.2
81.8
69.7
81.2
75.2
98.8
74.2
447
74.5
94.5
99.8
80.6
81.7
82.4
100.0
97.2
66.1
52.5
74.4
74.7
55.9
88.8
93.0
100.0
98.6
56.4
84.8
67.8
98.2
95.7
96.5
96.5
712.4
66.1
90.8
71.7
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86.7
85.5
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70.3
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(R ERTRIE] (%)
dtimE 93.4 96.3 75.0 94.2
BEHE 94.4 93.2 — 94.0
EFE 89.0 88.3 — 88.8
BHE 91.7 84.4 66.7 89.3
MEE 86.1 100.0 - 90.4
A= 86.7 86.0 - 86.5
EER 94.3 78.1 - 89.5
IR 96.6 92.4 100.0 95.3
N 98.8 91.8 100.0 96.6
HESR 98.2 92.6 100.0 96.4
mER 98.4 96.3 - 97.7
FER 82.3 74.2 - 79.7
B AR 79.5 54.5 62.5 70.9
pi:E=JNN]EE 89.3 79.4 30.0 85.3
HRE 92.7 91.4 66.7 91.2
ELER 98.8 100.0 — 99.2
alg 97.6 96.0 — 97.0
fEHE 98.7 96.9 — 98.2
HEIE 61.6 87.5 — 69.8
EHE 85.5 84.7 100.0 85.3
I BRI 97.9 94.9 — 97.0
EaE R 99.7 100.0 — 99.8
EHE 92.7 84.1 100.0 89.9
== 96.9 98.5 0.0 96.9
HER 96.2 92.6 0.0 93.8
AT 100.0 100.0 - 100.0
KR AT 96.0 92.2 100.0 94.8
EEER 83.3 80.8 50.0 82.3
ERR 63.5 78.0 0.0 66.3
PR 78.0 82.5 - 79.0
ERE 80.3 90.0 — 83.5
BRE 72.3 68.9 — 71.2
L8 99.5 97.6 100.0 99.0
LER 93.5 86.4 100.0 91.2
if=)=t 100.0 100.0 100.0 100.0
meR 98.8 96.9 - 98.3
EFNg 74.3 97.5 — 82.5
EIRE 97.7 83.1 75.0 92.2
B8 83.9 82.9 — 83.7
faf & 97.5 96.3 50.0 96.8
EER 94.6 93.3 — 94.2
RIFE 98.4 97.4 — 98.1
REARIR 95.3 84.2 — 91.9
KHR 93.8 84.3 — 91.1
=GR 88.3 84.0 100.0 87.3
BERER 97.0 87.6 - 94.4
ek =) 70.3 87.5 - 75.3

— - FIBEDEROBMN0IEHRENHo1-ECH
X EHEMRORERL, BROBRTHEERTORERESOTEHLE
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[BAME ) (%)
BER 100.0 100.0 - 100.0 - 100.0
BN 100.0 100.0 100.0 100.0 - 100.0
REBAT 100.0 100.0 100.0 100.0 - 100.0
=)= 100.0 100.0 — 100.0 100.0 100.0
EER 100.0 100.0 - 100.0 — 100.0
12 R 100.0 100.0 100.0 100.0 100.0 100.0
SWf=FEh 100.0 100.0 - 100.0 - 100.0
FRE T 100.0 100.0 — 100.0 - 100.0
JERATH 100.0 100.0 - 100.0 - 100.0
AT 100.0 100.0 — 100.0 - 100.0
AR 100.0 100.0 - 100.0 - 100.0
e R 100.0 100.0 — 100.0 - 100.0
1EEH 100.0 100.0 - 100.0 - 100.0
REARTH 100.0 100.0 — 100.0 — 100.0
KBRFF 99.8 100.0 100.0 100.0 - 99.9
B4 E 12 100.0 99.4 — 100.0 - 99.8
RERE 99.6 100.0 100.0 100.0 — 99.8
= 99.2 100.0 — 100.0 100.0 99.5
HEEER 97.4 100.0 90.0 100.0 — 98.3
RIFE 96.3 100.0 - 100.0 - 97.8
LR 96.1 100.0 100.0 100.0 - 97.8
R 95.0 100.0 100.0 100.0 100.0 96.9
B 97.8 93.0 - 100.0 - 96.4
LE™M 94.4 100.0 — 100.0 100.0 96.3
5z BB 12 93.2 100.0 100.0 100.0 — 95.9
N 93.4 100.0 100.0 100.0 — 95.9
R 95.0 96.4 100.0 91.9 83.3 95.1
EREER 88.8 100.0 100.0 98.5 - 92.8
TFHE 89.0 91.5 - 98.6 100.0 90.9
BEE 83.0 98.8 — 98.5 100.0 89.8
IS 83.4 100.0 - 100.0 100.0 89.3
=58 81.4 100.0 100.0 100.0 - 88.3
NG 83.1 100.0 - 100.0 - 88.3
BAEET 88.9 89.1 — 61.5 — 88.0
ZiEE 80.2 100.0 - 98.0 100.0 87.8
HBEE 74.8 100.0 - 100.0 — 84.7
dtiEE 69.8 100.0 100.0 100.0 100.0 83.6
i 77.6 92.9 — 100.0 100.0 83.2
e 73.2 94.8 - 97.3 61.5 81.8
EFER 73.7 90.1 100.0 100.0 - 81.6
FER 76.9 87.8 75.0 89.7 - 81.4
ZHIE 69.2 100.0 - 98.6 - 81.0
EEJN] 65.1 96.6 - 97.9 50.0 80.7
sk ey 80.8 71.6 — 90.0 — 79.1
A= 725 87.6 100.0 95.2 - 78.9
FFLIE 719 82.4 100.0 93.5 - 77.0
BER 62.6 96.8 - 89.9 - 75.6
SEE 68.0 82.5 — 100.0 - 75.5
BHE 61.6 100.0 - 100.0 - 749
RFE 66.4 86.4 50.0 86.6 — 74.8
EWLE 59.0 100.0 - 100.0 - 748
KHE 59.6 96.7 50.0 100.0 — 74.1
EER 58.2 92.3 - 100.0 100.0 72.9
FEH 70.3 72.7 — 100.0 — 714
HEET 58.0 100.0 75.0 100.0 - 71.2
S 55.2 89.4 50.0 97.0 - 70.0
FIFE 49.6 92.9 - 94.4 100.0 67.7
HEERE S 50.0 100.0 - — — 67.0
BFHE 44.4 95,5 - 100.0 - 66.7
MEE 445 86.0 — 100.0 — 64.8
i 46.9 100.0 - 100.0 - 64.7
ERE 45.0 73.2 — 82.9 — 57.2
HMET 41.7 86.4 50.0 57.1 — 56.5
=RE 42.3 68.3 — 94.1 — 55.7
FIE 37.7 75.0 - 100.0 - 54.9
FLIE T 448 70.1 - 100.0 50.0 53.9
IR 275 65.0 — 89.7 — 446

— HBHANOEROES [0] LH/ESH--ETH
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[#8:EFT & - tR E AR THIE] (%)
dtiEE 69.8 100.0 100.0 100.0 100.0 83.6
BFHE 44.4 955 — 100.0 - 66.7
EFE 73.7 90.1 100.0 100.0 - 81.6
TEHE 89.0 91,5 — 98.6 100.0 90.9
ﬂEﬂ Lr 445 86.0 - 100.0 — 64.8
A 725 87.6 100.0 95.2 - 78.9
REER 62.6 96.8 - 89.9 - 75.6
TR 95.0 100.0 100.0 100.0 100.0 96.9
N 93.4 100.0 100.0 100.0 — 95.9
HEE 83.0 98.8 - 98.5 100.0 89.8
BER 100.0 100.0 - 100.0 - 100.0
FER 76.9 87.8 75.0 89.7 - 81.4
R 95.0 96.4 100.0 91.9 83.3 95.1
EEJN! 65.1 96.6 — 97.9 50.0 80.7
FhEe 73.2 94.8 - 97.3 61.5 81.8
EWLR 59.0 100.0 - 100.0 - 74.8
gl 100.0 100.0 100.0 100.0 - 100.0
BHE 61.6 100.0 — 100.0 - 74.9
eIy 275 65.0 - 89.7 - 44.6
EE’L.: 66.4 86.4 50.0 86.6 — 74.8
I R IR 93.2 100.0 100.0 100.0 - 95.9
B4 E 12 100.0 99.4 — 100.0 - 99.8
BHIE 69.2 100.0 - 98.6 - 81.0
=8 81.4 100.0 100.0 100.0 - 88.3
HER 74.8 100.0 - 100.0 - 84.7
EBAT 100.0 100.0 100.0 100.0 - 100.0
ABRAF 99.8 100.0 100.0 100.0 — 99.9
EER 58.2 92.3 — 100.0 100.0 72.9
=RE 42.3 68.3 - 94.1 - 55.7
IR 71.9 82.4 100.0 93.5 — 77.0
SRR 68.0 82.5 - 100.0 - 75.5
ERE 45,0 73.2 — 82.9 — 57.2
e 83.4 100.0 - 100.0 100.0 89.3
LER 96.1 100.0 100.0 100.0 - 97.8
ag 100.0 100.0 - 100.0 100.0 100.0
mER 100.0 100.0 - 100.0 — 100.0
FIE 37.7 75.0 - 100.0 - 54.9
ZiRE 80.2 100.0 — 98.0 100.0 87.8
EEE 55.2 89.4 50.0 97.0 - 70.0
EEE 100.0 100.0 100.0 100.0 100.0 100.0
HEEER 97.4 100.0 90.0 100.0 — 98.3
RIFE 96.3 100.0 — 100.0 - 97.8
RERE 99.6 100.0 100.0 100.0 — 99.8
AR 59.6 96.7 50.0 100.0 - 74.1
HIFE 49.6 92.9 - 94.4 100.0 67.7
BERER 88.8 100.0 100.0 98.5 — 92.8
sk Y= 80.8 71.6 — 90.0 — 79.1
FLIRTT 448 70.1 — 100.0 50.0 53.9
L& 99.2 100.0 - 100.0 100.0 99.5
SW=FH 100.0 100.0 — 100.0 - 100.0
FEH 70.3 72.7 - 100.0 - 714
HET 58.0 100.0 75.0 100.0 — 71.2
I 46.9 100.0 - 100.0 - 64.7
HERT 50.0 100.0 — - - 67.0
Fiam 776 92.9 - 100.0 100.0 83.2
FHE T 100.0 100.0 — 100.0 - 100.0
JEFATH 100.0 100.0 - 100.0 - 100.0
AEET 88.9 89.1 — 61.5 — 88.0
AT 100.0 100.0 - 100.0 - 100.0
AR 100.0 100.0 - 100.0 - 100.0
b0 97.8 93.0 - 100.0 - 96.4
#MEH 41.7 86.4 50.0 57.1 — 56.5
FlING 83.1 100.0 - 100.0 - 88.3
/N=Til 94.4 100.0 — 100.0 100.0 96.3
e R 100.0 100.0 - 100.0 - 100.0
1EEH 100.0 100.0 - 100.0 - 100.0
BEARTH 100.0 100.0 - 100.0 - 100.0
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tiEE 100.0 100.0 100.0
RIRE 100.0 100.0 100.0
AR 100.0 100.0 -
BEE 100.0 100.0 —
EWLE 100.0 100.0 -
aANE 100.0 100.0 -
BHE 100.0 100.0 -
Ik B IR 100.0 100.0 -
=R 100.0 100.0 -
HER 100.0 100.0 -
HEBAT 100.0 100.0 -
KBRAF 100.0 100.0 -
ALY 100.0 100.0 100.0
LER 100.0 100.0 -
I =]=t 100.0 100.0 100.0
mER 100.0 100.0 -
= E R 100.0 100.0 100.0
EER 100.0 100.0 -
EIFE 100.0 100.0 -
RERIE 100.0 100.0 -
flieh 100.0 100.0 100.0
SV =FEH 100.0 100.0 -
BEH 100.0 100.0 -
5T 100.0 100.0 —
HEERET 100.0 - -
FEEH 100.0 100.0 -
JERATH 100.0 100.0 -
HETH 100.0 100.0 -
Nl 100.0 100.0 -
G 100.0 100.0 —
IN=T7l 100.0 100.0 100.0
dt A v 100.0 100.0 -
=T 100.0 100.0 —
HEARTH 100.0 100.0 -
ERER 100.0 98.5 -
FRE R 99.4 100.0 -
BHE 100.0 98.6 -
ZiRE 100.0 98.0 100.0
HER 98.8 98.5 100.0
RHE 96.7 100.0 -
BEHRE 955 100.0 -
HW)IIR 96.6 97.9 50.0
A 96.4 91.9 83.3
EER 96.8 89.9 -
EER 92.3 100.0 100.0
Epl 94.8 97.3 61.5
BEHE 91.5 98.6 100.0
= 92.9 94.4 100.0
Hiah 92.9 100.0 100.0
R 93.0 100.0 —
AEFE 90.1 100.0 -
=pal 89.4 97.0 -
MEE 86.0 100.0 -
1T} A= 87.6 95.2 -
FEE 87.8 89.7 -
EWE 825 100.0 —
EHE 86.4 86.6 -
ZHEM 89.1 61.5 —
TR 82.4 93.5 -
HETH 86.4 57.1 -
E=JNE! 75.0 100.0 -
bk 71.6 90.0 -
ERE 73.2 82.9 -
Z=RE 68.3 94.1 -
FEH 72.7 100.0 -
T3 65.0 89.7 —
FLiR 70.1 100.0 50.0
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100.0
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100.0
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99.6
99.5
98.7
97.5
96.7
96.6
95.2
94.9
94.9
93.8
93.4
93.3
93.3
93.2
92.9
91.2
90.1
89.9
88.3
87.3
86.5
86.2
84.7
84.1
82.7
76.9
75.8
74.6
73.7
71.6
7.4
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I
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100.0
95.5
90.1
91.5
86.0
87.6
96.8

100.0

100.0
98.8

100.0
87.8
96.4
96.6
94.8

100.0

100.0

100.0
65.0
86.4

100.0
99.4

100.0

100.0

100.0

100.0

100.0
92.3
68.3
824
82.5
73.2

100.0

100.0

100.0

100.0
75.0

100.0
89.4

100.0

100.0

100.0

100.0
96.7
92.9

100.0
71.6
701

100.0

100.0
72.7

100.0

100.0

100.0
92.9

100.0

100.0
89.1

100.0

100.0
93.0
86.4

100.0

100.0

100.0

100.0

100.0

100.0
100.0
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